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Solving Quadratic Word Problems II
Algebra 1 Class work / Homework

Today, we continue our work with quadratic word problems by solving several problems with similar
contexts as yesterday. All problems must be solved algebraically. As always, follow the guidelines
below in doing all word problems:

STEPS IN SOLVING WORD PROBLEMS WITH ALGEBRA

Define the variables that you want to find with let statements.

Create equation(s) that express the information given in the problem’s scenario.
Solve using algebraic methods.

Consider if your answer(s) is/are reasonable.

Label your solution(s) appropriately.

Check your answer(s) with the conditions given in the problem.

PRSP PE

1. The product of two consecutive integers is 30. Find the integers.
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2. Find three consecutive positive odd integers such that the product of the first and the third is 4 less
than 7 times the second.
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3. An object is moving in a straight line. It initially travels at a speed of 6 meters per second, and it
speeds up at a constant acceleration of 4 meters per second each second. The distance d, in mefers,

that this object travels is given by the equation d = 2¢* + 61, where ¢ is in seconds. According to this
equation, how long will it take the object to travel 108 meters?

[08 = r‘x)‘.e’% 6(
248 gt —108=0
730 —5U =0
(£ +PlE-4) =0
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4. The entrance to an athletic field is in the shape of a parabolic archway. The archway is modeled by

the equation d =12x—x2, where d represents the distance, in feet, that the arch is above the ground
for any x value.

(a) For what values of x will the arch be 20 feet
above the ground?

A= (Rx- %
AZ 2w+ 20D =0
(x-1D)(x-2) =0 ok 1o /D..;E?ff'

Archway

(d = 0) ground level

(b) How many feet wide is the base of the arch?
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(c) What is the, éiimum height of the arch above the ground?
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5. The product of two consecutive negative even integers is 24. Find the integers.

)4 =
K A2 = 2 ,--",“ fq .
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(% +8&)(x-6) =0
1+ & =0
A= —F
6. In the two squares shown below, the longer square has a side length 1 foot greater than that of the

smaller square. If the combined area of the two squares is 113 square feet, find the length of the
side of the smaller square. (Define any variables that you use by using let statements and/or by

labeling the diagram.)
g

Wi+ (x+1)>- U3
'}'(f-'?l 2n+) =13 X+ |

% 2q - N1 =0
(¢ + 160 —_13)

C)u § )U ~7)

7. An object is launched into the air from a ledge 16 feet off the ground at an initial vertical velocity of

96 feet per second. Its height H, in feet, at ¢ seconds is given by the equation H
Find all times ¢ that the object is at a height of 160 feet off the ground. |)»- -~ -~

|
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60 + | (6t 6t 16 = O
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8. As illustrated below, a frame for a picture is 2% inches wide. The picture enclosed by the frame is

5 inches longer than it is wide. If the area of the picture itself is 300 square inches, determine the
outer dimensions of the frame.

A[AH+5) = SUD

Y AF+5x = 3UD

s | AFSH-30D =0
(xq0) (xT15) =0

Ae2p =0

N=2p

X5

linches

(20 +25) (85+25)

weihf 28BS
Legiy @ 1
9. The square of a positive number increased by 4 times the number is equal to 140. Find the number.
8 V)
ALy, =140 luo +4p = 140
Al - 14D =0

C?(_ -—[-H/)CX—/D) =)
> ) =D
N=[D

10. Find three consecutive positive odd integers such that the product of the first and third is equal to 1
less than twice the second.
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